2. -?Qni m

4. Total number of gold medals bagged by

5. Karthik cultural fest in Gurgaon aims at

3. Predict the output “sum” in the following

nly tomple dedicated to Eaavya is
T e

(A) Khandsa

(B) Yamuna Nagar
(C) Baharpur

(D) Sohna

prfogram.
sum=0
foriin range (1, 11,2):
SuM+ = i

print “sum=", sum
(A) 11

(C) 24

(B) 22
(D) 25

India in the recently held Commonwealth

Games is
(A) 25 (B) 26
(C) 27 (D) 23

promoting

(A) Agriculiural harvesting
(B) Martial arts and folk arts
(C) Happiness of husband
(D) None of the above

‘Producer of Manganese in

. 9Ra A A = R 3wes R

(A) Sfewr,
(8) IFNMAM
RN
(D) W&
3. fF=fafes um @ ﬁfw;&% FIRA
am | <
sum=0 .
for i in range (1, 11,2):
sum+ =j '
print “sum=", sum
A (B) 22
(C) 24 (D) 25
e €' qU UASH Tl § wRd B 9
fore T ol gt K wen @
(A) 25 ABY 26
©) 27 (D) 23

TSI <61 ek ARGHfcieh Soed ___ K TTR
R AT R |

(A) FY Ferd

(BY ATHR 31é R Aewanai

(C) 9fg & ww=a

(D) 3% H

(D) IRAAFTE =&




AAY" Brazi, Russia, India. China, South Africa
(B) Braail, Russia, india, Canada, South Africa
(C) Brazil, Russia, |ndia, China, S“ﬁtzerland
(D) Brazil, Russia, Italy, China, South Africa

9. A convex lens of focal length 20 ¢cm is
placed co-axially with a onvex mirrer of
radius of curvature 20 cm. Thetwo are kept
13 ¢m apart from each other. A point object
Is pfaced 60 cm in front of the convex lens.
The position of the image formed by the
combination is
(A) 80cm (B) 40 cm
(CY 30 cm (D) 10cm

10. The mean deviation of the data 3, 10, 10,

» 7.-10, 5 from the mean is -y *3’*',3’ ;
7{‘\)° 2 % os7 b f@
(C) 3 (D) 3.75 =

11.  Which of the following is not an award | 11.

presented by Haryana Sanskrit Academy ?
(A) Maharishi Vaimiki Samman

(B) Mahakavi Baanbhatt Samman
(CY"Maharishi Vedvyas Samman

(D) Mahakavi Kalidasa Samman

A and B are married couples. Xand Y are 12.

brothers. X is the brother of A. How Y is

related to B ? :
By Brothersin-law

(A) Brother
(C) Son (D) " Son-in-law

There are four bus routes between A and B,
three bus routes between Band C. A man
can travel round trip in the number of ways
by bus from A to.C via B. If he does notwant
to use a bus route more than once, in how
many ways.can he make round trip ?

(A) 72 144

(C) 14 (D) 19

Which of the foflowing districts of Haryana
is richest in mineral resources ? <

(A) Fatehgarh s Mahendragarh
(C) Hisar _. (D). Ambala ,

12.

13. 13.

14.

Director
Amit Kumar

FINIPU

Te]egkam/etayarig 0

14.

Feraer & £
(A) 2 B)2.57 e,
©) 3 (D) 3.75 - .
et 3 & st~ GEehrL ERATT FEEd
SerTeH] Zrv R fean Sar 2 —A7 i
(A) weldafeh gut 2
(B) HETEd AwnTE FEHH __‘33

(C) Wet SRy F o
(D) TETR Ffererd HETd 2
As B fRafm g d 1 xRy g 2 |
X, AR AER Y, BY e ysR gaftiaR 7
(A) Té (B) @&

(C) | (D) <IWR

A BF faan=aari ¥, B 3tk ¢ Fm
daaman 8 1w AR AT C, B AR m
&S T § 3N W TFA 81 32 I3 v 57
= O T SIS AR 54 T 0 Sy o) 5
fFA TR A NN AR & ?

(A) 72 (B) 144

(C) 14 (D) 19

b 8 U
i T

7015778157, 8929080877 8950225657
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4 Gandh'J' 98”" ’ %
Identify ! the correct S8
(A) 1ang2o0nly
(B) 3and4 only
(C) 1.2and3 only
(D) 1,2and4 only

16. A garvanomeremasa resistance of 30 Q and
" acurentof 2mAgives full scale deflection.
How will you convert this galvanometer into
a volimeter of 0.2 V range ?
(A) 700Qresistance should be connected
‘parallel to the galvanometer
48)/ 70 Q resistance should be connected
parallel lo the galvanometer
(C) 700Qresistance should be connected
“in series to the galvanometer
(D) 70 Q resistance should be connected
in series to the galvanometer

17. 7°-2"n¢Nisdivisible by
(A) \Zh o (B) .2
M.r/%!': .-44-‘ . (D) “None of these

(B) Gluten
(D) Noneof these '

16.

17.

18.

19,

W ﬁaﬂaﬁil' o
w«ﬁamﬁ‘ TaTE
T$ | i

2. wwmmqﬁmﬁ U

3. mﬁzem&rﬁwsoﬂm
mﬁmﬁwﬁvh%ml

4 TR I TR F RS

_ lll ﬂ ;;;: 7,-

& T g | . ’

(A) 13M 2 %ad 20
(B) 33K 4 FaA g
(.2 3R 3 3w, fg——

(D) 1,23 4%acd 6 =

30 QafeliY 37t2 mA faegd & U Aea-ide

QUi 4u=1 feEe 21 2 | 3779 39 U 0.2 VAN

F UF AleeHICT A &8 T9iaid i ?

(A) £ 700 Q ufadist Neanfiet @ AU H SIS
ST =rRe

(8) 70 Qufdy fieadTHet |} THIR § STST
ST Tfgw

(C) 700 Q2NfOY AeaiHiet R YEen o st
T e

(D) 70 QUfE AR A JEen iR
Eicikefad

7-2neN___ zmfavsag|

(AY 7 (B) 2

(C) & (D) FH @ $ 7
RAAT P ____ Famwdmd |
(A) e (8) =3

©) Fsaga (D) ‘sﬁﬁaﬁéwﬁ
e AR TG g @ s
FRTPAN R il

(A) TH *h-zm:ﬁu 39Ty




the following -j'fdbt an Internet |

(ISP) in india ?

(B) BSNL
(C) ERNET India

A

B
P

K TO15T78157, 8329080077, 8950225657
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OMPETITION{S{CLA'SSES

TUIMON CLASSES FOR

e

MATHS
SCIENCE

PHYSICS, CHEMISTRY
BIOLOGY, MATHS & ACCOUNTS

NS HARYANA POLICE [EES
COMPETITIVE MATHS N RAILWAY H RPF =
SsC LDC DESCRIPTIVE N TETNC-TET R

X.' Seswnansl ve Ao l'.v‘ AN AL lulus Ulvl_lal into
digital signal and vice-versa

(B) Modem is a software

(C) Modem helps in stabilizing the
voltage

(D) Modem is the operating system

23. Rightto Information Act (RTI) was enacted '

in the year of

(A) 2003 (B) 2004
(G 2005 (D) 2006
24. Galenais
(A) CuFesS, 48y PbS
(C) ZnS (D) CaSO,

25. Who among the following have been awarded

by Param Veera Chakra for his service during
indo-Pakistaniwar of 1971 ?

(B H oshiyar Singh Dahiya
Karam Singh
| Vikram Batra.

21,

22.

23.

24.

25.

Herdal seaal @
(B) T2 U WA E
(C) Trem a1 R Y H Heradl e &
(D) W vs e yonef 2

AT SAfrer  sifufa ad. & Jmy

3T |

(A) 2003 (B) 2004

(C) 2005 (D) 2006
e 2

(A) CuFesS, (8) Pbs -
(C) 2nS (D) casq,

1971 & m—m%mngaﬁ AienRes 1
3 Foerh e < ST) ¥ 5 o e



(C) MaCieJ Navi" o0
(D) None of "19*

28. Mal extracts of

supplements in
boost, bournvita, ™

 crop. are used as

ruch drinks like
.néf.g); ?

Wheat (8) Oats
N ‘(QA’/) Barley (D) Triticale
Rl W e longest sevingGovernoriof
- e ' Haryana.
x e>° (A) Dharma Vira

8y Birendia Narayan Chakraborty
\ (C) Ranjit Singh Narula
(D) Jaisukh Lal Hathi
30, The first Non-Aligned Summit was held at
.(A‘r Belgrade (B) New York
}\ 6.l (C) Delni (D) Bangalore
1. Which of the following electromagnetic
\ spectrumis the chief cause of skin burning,
tanning, cancer, etc 7

)
<
Yy _(AYUV-A rays
4= (B) LV-Brays
¥ (C) UV—C rays
n (D). None of the above
32. Foliowingis not a:layer of uterus

(A), End&rmmum 48)/ Myometrium

(D) Eectometrium

mber of bacteria in a certain culture
S.every hour. [f there were 30
acteria present in the culture originally,

’ many will be present at the end of 4%

(B) 240
(&) Nqne of these

| oy b

28.

29.

30.

31.

32

33.

._(_B), |

(o) A A

o yq@ mm 2 7

(A) ?Eﬁ-.Q%(m

(B) Fh-sh oo

(C) - fomam

(D) 3uaa § W A1 T :
fiafafaa EBRER R G *é
(A) Teifrag (B)

T WAk | e i de

- AR AR TR qam @ ok
/30 Sy Fufig 31, AT

ﬁ?aﬁaﬁmggq@mix? 4
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 (A) 300-215-317-3

Both (A) and (C)
e R
 the IP address from the following.

(B) 302-215@417-5
_JCY202.50.20.148
(D) 202-50-20-148

37. Whichofthe following personality is said to

38.

39.

41.

(C) Maize .

be the father of folk theatre in Haryana ?
(A) Ali Baksh

AB7 Lakhmi Chand
(C) Daya Chand
(D) Mukesh Yadav

What is the cause of Greenhouse effect ?
(A 1R rays (B) Microwaves
(C) X-rays (D) Radiowaves

Find out the missing number in the
sequence -1, 0, 1, 8, 27, ?.
(A) 24 (B) 44

(C) 60 4Dy 64

If ]x —2| < 5then x lies in the interval

(A) [-7,3] _(BY 13,7

€ 8.7 D) [-7;-3]
Among thetotal foodgrain production, which of
the following crops rapks first in Haryana ?
(A) Rice By Wheat

(D) Pulses

fter successfully setting up two fully
eveloped food parks in Haryana, State
trial and Infrastructure Development
(HSIIDC) is developing another

- |

37.

38.

39.

40.

41.

42.

B) 302-7 .
éc; gg?fgo,‘”gff 4

(D) 202 o Y oy

: i o H e (R
e Sl A © ¢

(A) el s

(B) wwEHl ==

(C)-T ==

(D) Ty AT

FEEINE FEFO AR !

(A) IR T (B) H&A AU

©) x-Froi (D) Yfent foroi
FH-1,0, 1, 8,27, 2 T e TEAT J1d AL |
(A) 24 (B) 44

(C) 60 (D) 64

M x-2]=5@x__ e HY |
(A) [-7,3] (B) [=3,7)]

© B7 (D) =7, -3]
ERRCIBIERTICER: Frafofas 8 & -
HEE BRATT ¥ 920 T Ty 2 2

(A) 9= (B) 1 8
B T




. chest pain appears
" an is reaching the
o

A symptom of :'L
when no enouyt
heart musclels .
S (A) Angina pecto™
- (B Atherosclerds®
(C) Heart failuré
(D) Hypenension
45. Two dice are 1hrown tOQeiher. Let Abe the
ovant of ‘getsing 607 the first die’ and B be
the event of ‘getling 2 on the second die'.

The value of P(A N B) is

) Na ,(B)/‘ /36

‘j (©) )é (D) None of these

d 46. The number of ways of choosing 4 cards
| from a pack of 52 playing cards such that
J four cards belong to the same suit is
j (A) 2860 (B) 2086

(C) 2680 ,49)/ none of these
Z 47. Assembly House of Haryanais at

(A) Rohtak (B) Panipat

(C) Ambala ,46)/ Chandigarh

48. Which set of letters when sequentially
placed at the. gaps in'the letter series
’P',ONPM QNPMOARMON f will complete
it ? \ 9

DT~

(8) NMPO
4B} MONP
Na group of 65 people, 40 like cricket, 10like
bQ‘ Chcketand tennis. The number of people
Wholike tennis only and not cricket is

SR VAR oL
L . ‘--: (-Q)J 5:.'.9‘

‘A) . .
",’_ 0 Te]

450

46.

47.

48.

49,

——-.—--'-—--
(B) UREERE
(C) T v
() &
2w @ ik TR |

et AT 2 ST T % T R | (A
1 7 &
@) He ® Yo
© Ve (0) T A=
ST F 7 % U G 1 W 4 FE Wy
o 3 e 0 e o T e
ﬁ[ 3

(A) 2860 (B) 2086
(C) 2680 (D) 39 il
CERIICARE IR S &
(A) Tza® (B) i
(C) =F=men (D) =Emg
T4 T HH-aT
~ONPM _NPMO_PMON_ 3147 4@l
AT H T 1 W58 ool m 7
(&) BNOM () NMPO
GSFﬂlﬁé;@ ﬁ > --’Ir:','
%, 10 5% o e
¥ ) e e
IR T, e ;
(A) 85 7




FINIPUN ACADEMY
COMPETITION{SICLASSE

PHYSICS, CHEMISTRY
BIOLOAY, MATHS & ACCOUNTS

HARYANA POLICE [EED
COMPETITIVE MATHS @ elak

dha
$1. Which among the following statement about

SAARC is wrong ?

(A) SAARC members signed to a treaty
called SAFTA
its first Summit was held at Bangalore

(C) Its Headquarteris locaged in Katmandu
of Nepali

{D) SAARE was established in 1985
52. 'Pidi' refers to

(A) Terracotta (B) Wood Carving
_{&7 Footstool Craft (D) Metal Carving

583. If‘HEATER'is written as ‘KBDQHO'. How
'COOLER' can be coded ?
(A FLRIHO (B) ALRIHV
(C) FRLIHO (D) FLIRHO

54. The movement of colloidal particles under
an applied electric potential is called
_{AJ Brownian Movement
{B) Tyndal Effect
(C) Diffusion
(D) Electrophorasis

MATHS
N SCIENCE

bt a type of

55. Which of the following is a supersonic

missile 7
(A) Trishul (B) Akash
(C) Prithvi By BrahMos

§6. Haryana Police and the Department of
Women and Child Development have
“launched a campalgn to trace and
‘rescue the missing children of state.
Yg) Operation Children

\(B) Operation Beti Bachao
Operation Muskan
(D) None of the above

51 ! qleq the physiological barrier of innate
= ﬁ’fcgm the

f‘ L

3

51.

52.

53,

54.

.55.

56.

(e). nfem

(B) T3 FA
(D) RIS
2f HEATER' %1 'KBDQHO' ferar AR,
&l ‘COOLER 1 % 1 &l ¢

(A) ‘2T

(AY FLRIHO (B) ALRIHV

(C) FRLIHO (D) FLIRHO

e forzges farvra 3 sfanta fereli <uil <61 TTid
_ FEe |

(A) sfEA

(B) ﬁzaum

©) famm

(D) EAFOETAA

Tttt 3 & = -6 v g a2 ?

RENS (B) STeRTeT ,

(C) gl (D) v

o gfeTd AR AR U e fiyerra Ry

1T & W0 1 63 s A

(A) wﬁnﬁ?@

(B) aﬁqimﬁz‘lwaﬁ

(o) STRIA T



59, 59.
{8y Pascal
(C) Assembly langaqe
(D) FORTRAN
60. Intemational Yoga Day is celebrated on 60.
(A) 20" July (B) 21* July
(C) 22 July 487 21 June
61. If'A' means 'x’, ‘B' means ‘+', ‘C' means ‘+' | 61.
and ‘D’ means -, then 21 _(’33069(352:,
(A) 72 ABY 0 '
{C) 48 (D) none of these
62. Themean deviation about the meanforthe | . 62.
data 6, 7, 10, 12, 13, 4,8, 12is :-7-2:‘3
(A) 3 ‘ (B) 9 g
A8 275 (D) 3.25
63. Horseisa 63.

(A) Ruminant hoofed

e r on-ruminant hoofed
(C) Even toed roofed..
(D) Odd number.toed hooted
84 . o B the. present Advocate General of

3
&

64.

(A g t_r ,.L:
gt
(| il e A
(C) T 3 ia‘,ai'.ié“' i

©) waH ERm

P #8 PR T Ry
v agi 8 7 e I
() T Fa
(B) TERQ _
(C) THsEt T N
(D) ®gH Y =
STl & | |

(A) 2093 (B) 213w
(C) 229 D) 2153
IfZ ‘A" HAR ', ‘B T WA &, 'C'F
TaeTa s+ 3R D' ) AaSE = 8, W
21C3D6A8B2=

(A)..72 (8) 0

(©) 48 ©) T aEA
AHSI 6, 7, 10, 12, 13, 4, 8, 125 fe ai:y
Ame faaaT @ r
(A) 3
(C) 2.75

RISER

(A) ﬂ’ﬂ?ﬁ'?ﬂﬁmg{

(B) FCIeA 3 arem
(D) ﬁwmﬁ?raﬁm@ N

(B) 9
(D) 3.25 \



- of Bengal due 1o
(A) High evaporation

(B) Hydration

£€]" Precipitation
X (D) Influx of river water
:V) 68. Recently, this countr
_ Haryana Government t,
Jayanti Mahotsav in their

Malaysia
(C) Pakistan

Select the pair in wh:
= which
similarly related tq the pair 7 : 24

l (A) 30: 100 ABY 2372
| (C) 19:58 (D) 11:43
70. Three marrie 2
Director 7015778157, 8929080977,4950225657

Amit Kumar
W5

FINIPUN ACAD
COMPETITION{&IC

TUITION CLASSES FOR

| e9.

MATHS
SCIENCE

BEANISEEE HARYANA PoLICE [OEES
RAILWAY RRPF |
SSC LDC DESCRIPTIVE MH-TET

N\
© ost o) heorz

72, Stomachof ruminants is divided into

’ ) Fo r parts | /(B)/ Two parts
C) r_parts (D) Five parts

CEEIRRORET - =l (LS g
haraa i fr- ol 1 N St
4O IS Iramed D

i

(D) Mauritius

the numbers are

=l If

on

68.

69.

70.

71.

(C) "%.o'r.'%'

(B) mﬁl’éﬂw 1 T

(C) e

(D) et & el b1 A

T, g0 A5 A
T % fore ghden SR

(A) TERTE

(C) wifsra

@ Sitey g fored ST SHI ShR

Uh~Za @ e g 8l o Jh 7 : 24 ¥
(A) 380: 100 (B) 23:72
©) 19:58 (D) 11::43 4% .
1 Franfed el 6t ook R g § 6 ik
T Ui H A3 R | 3 ufa-uoh o
S A AR, 3 e TR e

ST HHAT 2 ? 1
oy ®) 18 |
(C) 48 ©) mﬁaﬁh@
B, T S
BB o)~z

"'(D) 1.-/2-9!"2." +




8379080977, 8350225657

FINIPUN ACADEMY

C@MPE!BITHION SICLA SSESH
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PHYSICS, CHEMISTRY
BIOLOGY, MATHS & ACCOUNTS

) HARYANA POLICE [HSSC |

RAILWRY JIRPE
MZBEEJI ; JHTETRC.TETS

7015778157,

MATHS

»»»»» PSSRV EVIVIY IR}
PNCOTT TTSYVITL i St Y

the rule of
(A) Babar
ohd. Bin TughIak
(C) Mohd. Ghori
(D) Akbar
27. Select the word which is least like other
wordsdin' the group.
(A) Cow By Deer
)@/ Donkey (D) Goat

78. First battie of Panipat was fought in
between
(A) Akbar and Rana Pratap
(8) lbrahim Lodhi and Akbar
brahim Lodhi and Babar
(D) Akbarand Shershah Suri

is the first and youngest woman in
the world to climb Mt. Everest'twice.
(A) Bachendri Pal
(B) Santosh Yadav
(C) RremlataAgarwal
427 Arati Saha

80. '_._'ﬁas mﬁt'rumental in collecting &
version o the Guga legend and pubhshed
in Indian Antiquary (1895): N

“Major J. Abbott

79.

pjlhe Indian- Consmutton
qﬁqg}fgb‘ rom 21 to 18

75.

76.

78.

79.

80.

(C) RS
(D) TR
%ng“ﬁm@ﬁaﬁisﬁaﬁm@
&R et &

(8) TR

(A) T
(C) T 0y F=A

Ricikcic IR DL R A

(A) TR 3R T ST
(B) EN el 3 3TFR
(&) {iﬁ%ﬂwﬁaﬁtaﬁﬂ
(D) 3FAR S IR F

_____ T IR AIS W@ W I el fawa
H vom N TG FH AP A WD R |
(A) T3 TA

(B) HaIS Hag

(C) IR PRETHA

) mﬁum
AT & T deh 3 U

3 3R TR, y
s ﬁmm (1895) WeRifHiq

FdAASTI T

,\



- S
 (8) Pemakhanou
) Dorjee Khandu
(D) None of the above
1. s e 3 !

83. Haryana Sanskrit Gayray Samman for the

year 2016 has been awarded 1o which of
the following Sanskrit wiiter ?

(A) Prof. Shrikrishna Sharma

_{BY Acharya Mahavir Prasad Sharma
(C) Prof. Rajeshwar Prasad Mishr
(D) Pandit Sitaram Shastri Acharya

84. Class which.contains only pure virtual
function is called ¢

(A) base class

(CY abstract class
it P(A) = 5 and P(A A B) = % then

P(%A)-

(B) derived class
(D) inherited class

85.

1 1
(A) 75 (B) 3
7
©or'% © %o
86. Which of the following is not a keyword in
python ? -
(A) Try [BY Except
(C) Throw (D) Pass ™
87. Thecode name usedtolaunch an invasion

on lraq by USA in 2003 was

}A‘)/ Operation All Clear

(B) Operation Iragi Freedom

(C) Liberation of Iraq

(D) Operation enduring freedom of Iraq

X

verin. a bilateral military exercise
Aty held in Belagavi, was between

(8) Maldives

83.

84.

85.

86.

87.
© fRT 3w B2 AW A0
T (A) WA S R

88

; ad
o8

(C) W. Towa yee W4
(D) §. Harom gred IEH

1 g s e A T ———
Fara ? | o

(A) R ad (B) "Fﬁ,‘ﬁ ot
(C) mrad (p) SIARE

afe p(A) = % 3R P(A 0 B) = %o

A

1 £
(A) ;’6 (B) 8
© % "© %o
frafaRen @ =7 -m TR 7§ w it wes
e
(A) 318 (8) T
©) & (D) @

20037 WWWW@_'WW%$

(B) 3R T shieH.
© fosemsis s
(D) TR TSR IS T T
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89, {laen g jisten to my words”.

0 his words . g
(B) Leh'lfrged them if they sit quiet and
listen to his wordS :
(C) He said to them be qui€t and listen to
his words : _ :
(D) He toid them € quiet and listen to his
words
90. The master says ‘HaveYou seen the map 7"
The master nquires if e has seen the map

(B) The master inquires if he saw the map
(C) The master said had he seen the map
(D) The masterasked had he seen the map

Compiete the sentences selecting correct option :

91. Weare so late
(A) we couldn’t catch the train
i at we cannot catch the train
(C) tocatch the train
(D) that we could catch the train

92, As soon as the speech started
(A) thenthe demonstrators rushed to the
platform
(B) when the demonstrators rushed to the
platform
(C) than the demonstrators rushed to the
latform

the demonstrators rushed to the
‘platiorm
Fillin the blanks with appropriate from the given options :
B; H . two wickets before play was
interrupted by the rain.
( ) _Nas taken (B) taken
en (D) took

had finished cooking when the

-y (B

L
iy ’ www.etayari.com

contact@etayari.com

Mg

w@m@ﬁm’gﬂwaﬂaﬁﬁmm%r
(A) mé@ﬂ‘f@“ﬁm%
(8) T EAIE

(o T A g G ST
(D) TA @A T &

g6, 39 = fedl 1 FEd &
(A) 3918

By FaaATE®

(C) ¥

(D) 3l
'gﬁﬁfa@mﬁmr"mwﬁ‘maﬁ"
HA-TNFAD © ¢
(A) W FHITH

(B) TIu FHH
£y Fut I

(D) o FTH

98. ‘IR s o TGN w9 2
Y il
(B) I
(C) ¥
(D) o0

95.

7.

99, ‘St fohefl &7 3uHR 7 I’ I g &

32N3I0S






